

**TUGAS DSK 3  
BOOLEAN ALGEBRA 2**



**Nama: Devafilla Rizqy Santosa  
Kelas : 1 D4 Teknik Informatika A  
NRP : 3120600026**



Nama: Devafilla Rizqy Santosa  
 NRP: 3120600026  
 kelas: 1 D4 TIT

### Tugas DSK

$$1. F_1 = x'y'z' + x'y'z + x'yz'$$

$$F_2 = x'yz + xy'z' + xy'z + xyz' + xyz$$

komp:  $F_1$

$$F_1' = x'yz + xy'z' + xy'z + xyz' + xyz$$

$$(F_1') = (x+y+z')(x'+y+z)(x'+y+z')(x'+y'+z)(x'+y'+z')$$

$$F_1 = m_3 \ m_4 \ m_5 \ m_6 \ m_7$$

$$\text{POS} = \prod m (3, 4, 5, 6, 7) \quad || \quad \text{SOP} = \sum (0, 1, 2)$$

komp:  $F_2$

$$F_2' = x'y'z' + x'y'z + x'yz'$$

$$(F_2') = (x+y+z)(x+y+z')(x+y'+z)$$

$$F_2 = m_0 \ m_1 \ m_2$$

$$\text{POS} = \prod m (0, 1, 2) \quad || \quad \text{SOP} = (3, 4, 5, 6, 7)$$

$$2. A) F(A, B, C) = (A' + B)(B' + C)$$

$$= A'B' + A'C + BC$$

$$SOP = A'B'C + A'B'C' + A'BC + A'B'C + ABC + A'BC$$

$$= A'B'C + A'B'C' + A'BC + ABC$$

$$= m_1 + m_0 + m_3 + m_7$$

$$= \sum (0, 1, 3, 7)$$

Komp: F

$$F' = A'BC' + AB'C' + AB'C + ABC'$$

$$(F') = (A + B' + C)(A' + B + C)(A' + B + C')(A' + B' + C)$$

$$POS = m_2 m_4 m_5 m_6$$

$$= \prod m(2, 4, 5, 6)$$

$$B) F(x, y, z) = 1$$

$$= xy + xzy + yz + xz + (x + x')$$

$$= xy + xzy + yz + xz + xz + (x + x') \cdot (y + y')$$

$$= xzy + xzy' + xzy + xzy + x'yz + xzy + x'y'z + x'y'z + xy + xz$$

$$= xzy + xzy' + x'yz + x'y'z + x'y'z + xzy + xzy' + x'yz + x'y'z$$

$$= xzy + xzy' + x'yz + x'y'z + x'y'z + xzy'$$

$$SOP = m_7 + m_6 + m_3 + m_5 + m_4 + m_2$$

$$= \sum (2, 3, 4, 5, 6, 7)$$

$$K_{omp} = f$$

$$F' = x' y' z' + x' y' z$$

$$(F')' = (x + y + z)(x + y z')$$

$$Pos = m_0 m_1 = \prod m(0, 1)$$

$$L) F(x, y, z) = (x + y + z)(y + xz)$$

$$= xy + xy z + z y x z$$

$$SOP = xy z' + xy z + x y z + x y z + x' y z + x y z + x y' z$$

$$SOP = m_6 + m_7 + m_3 + m_5$$

$$= \sum (3, 5, 6, 7)$$

$$K_{omp} = f$$

$$F' = x' y' z' + x' y' z + x' y' z' + x y' z'$$

$$(F')' = (x + y + z)(x + y + z')(x + y' + z)(x' + y + z)$$

$$Pos = m_0 m_1 m_2 m_4 = \prod m(0, 1, 2, 4)$$

$$3. A) F(x, y, z) = \Sigma(1, 3, 7)$$

$$= x' y' z + x' y z + x y z$$

$$\text{Komp} = F'$$

$$F' = (x' y' z') + (x' y z') + (x y' z') + (x y z) + (x y z')$$

$$(F')' = (x + y + z) (x + y' + z) (x' + y + z) (x' + y + z')$$
$$(x' + y' + z)$$

$$\text{Pos} = m_0 m_2 m_5 m_4 m_6$$

$$\Pi(0, 2, 4, 5, 6)$$

$$B) F(x, y, z) = \Sigma(0, 3, 6, 7)$$

$$= x' y' z' + x' y z + x y z' + x y z$$

$$\text{Komp} = F'$$

$$F' = x' y' z + x' y z' + x y' z' + x y' z$$

$$(F')' = (x + y + z) (x + y' + z) (x + y + z) (x' + y + z')$$

$$\text{Pos} = m_1 m_2 m_4 m_5$$

$$\Pi(1, 2, 4, 5)$$

$$c) F(A, B, C) = \prod (0, 1, 3, 2, 4, 6)$$

$$(F')' = (A+B+C)(A+B+C')(A+B'+C)(A+B'+C')$$

$$(A'+B+C)(A'+B'+C)$$

$$F' = A'B'C' + A'B'C + A'BC' + A'BC + AB'C' + ABC'$$

$$\text{KOMP} = F$$

$$F = A'B'C + A'BC$$

$$\text{SOP} = m_3 + m_7$$

$$\text{SOP} = \sum (5, 7)$$